
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly
7/4/25

TS29 Sliding Table Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 TS29-095 Main Table  1

2 TS-1504101 Socket Head Cap Screw M8 x 50 6

3 TS29-096 Ring Nut  6

4 TS29-097 Bearing Race  6

5 BB-6004ZZ Ball Bearing 6004ZZ 6

6 TS29-098 Retaining Ring R42 6

7 TS29-099 Bushing  6

8 TS29-100 Nut  1

9 TS29-197 Socket Set Screw M5 x 30 1

10 TS29-101 Lock Ring  1

11 TS-236110 Lock Washer M10 3

12 TS-1540072 Hex Nut M10 1

13 TS29-102 Table Lock Pin  1

14 TS29-103 Spring  1

15 TS29-104 Housing  1

16 TS29-105 Roll Pin  1

17 TS29-106 Clamp Casting  1

18 TS-1523041 Socket Set Screw M6 x 12 1

19 TS29-107 Plunger Pad  1

20 TS29-108 Locking Arm  1

21 TS29-109 Plunger  1

22 TS29-110 Spring  1

23 TS-1524031 Socket Set Screw M8 x 12 1

24 TS29-111 Horizontal Post  1

25 TS-149105 Hex Cap Screw M10 x 35 2

27 TS29-112 Post Clamp  1

28 TS29-113 Vertical Post  1

https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly
7/4/25

29 TS29-114 Retaining Ring S25 1

30 TS29-115 Lock Lever M6 2

31 TS29-116 Knob M10 1

33 TS-1550071 Flat Washer M10 1

34 TS29-117 Mitre Gauge Body  1

35 TS29-118 Sliding Table  1

39 TS29-119 Aluminum Fence  1

40 TS29-120 Knob w/ Stud  1

41 TS-1482071 Hex Cap Screw M6 x 35 1

42 TS29-121 Scale  1

43 TS-1481061 Hex Cap Screw M5 x 25 1

44 TS29-122 Lock Lever  1

45 TS29-123 Sliding Block  1

46 TS29-124 Stop Plate  1

47 TS-1540031 Hex Nut M5 1

48 TS29-125 Extension Bar  1

49 TS29-126 Knob w/ Stud  1

50 TS29-127 Support Fence  1

51 TS29-128 Scale  1

52 6293093 Junction Box Cover (not shown)  1

53 6293095 Screw (not shown) M6x16 2

Additional Information

Stock Number 1791284-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/ts29-sliding-table-assembly

